

# Generalized Disconjugacy and Comparison Theorems

L. H. ERBE<sup>1</sup>

*Department of Mathematics, University of Alberta,  
Edmonton, Alberta, Canada T6G 2G1*

*Communicated by Oved Shisha*

Received May 28, 1988

We consider the pair of equations  $L_n y + py = 0$ ,  $L_v y + qy = 0$ , where  $L_n, L_v$  are disconjugate differential operators of order  $n$  and  $v$ , respectively, and establish some comparison theorems between them. © 1989 Academic Press, Inc.

## 1. INTRODUCTION

Suppose that the real functions  $f_i \in C^{(n-i)}(I)$ ,  $I \subset \mathbb{R}$ , with  $f_i > 0$ ,  $i = 0, 1, \dots, \sigma$ . We define the differential operators  $L_i(f_i, f_{i-1}, \dots, f_0)$  by

$$L_0(f_0)(y) = f_0(x)y, \quad L_i(f_i, \dots, f_0)(y) = f_i(x) \frac{d}{dx} L_{i-1}(f_{i-1}, \dots, f_0)(y),$$

$i = 1, 2, \dots, \sigma$ . We consider the pair of equations

$$L_n(r_n, r_{n-1}, \dots, r_0)y + py = 0 \tag{1}$$

and

$$L_v(\rho_v, \rho_{v-1}, \dots, \rho_0)y + qy = 0, \tag{2}$$

where  $r_i, \rho_j > 0$ ,  $0 \leq i \leq n$ ,  $0 \leq j \leq v$ , and where (without loss of generality) we assume  $\int^\infty r_i^{-1} dt = \int^\infty \rho_j^{-1} dt = +\infty$ ,  $i = 1, \dots, n-1$ ,  $j = 1, \dots, v-1$  [11], and  $p, q \in C(I)$ . Along with Eq. (1) we shall consider boundary conditions of the type

$$\begin{aligned} L_i y(a) &= 0, & i \in \mathcal{I} &\equiv \{i_1, \dots, i_k\}, \\ L_j y(s) &= 0, & j \in \mathcal{J} &\equiv \{j_1, \dots, j_{n-k}\} \end{aligned} \tag{3}$$

<sup>1</sup> Research supported by NSERC-Canada.

with

$$\begin{aligned} 0 \leq i_1 < i_2 < \cdots < i_k \leq n-1, & \quad k \leq n-1, a, s \in I, \\ 0 \leq j_1 < j_2 < \cdots < j_{n-k} \leq n-1. & \end{aligned} \quad (4)$$

Similar boundary conditions will be considered for Eq. (2) (with,  $i_l, j_{v-l} \leq v-1$  in (4)). As in [1, 3] for  $a \in I$  we define the  $i$ th extremal point  $\theta_i(\mathcal{I}, \mathcal{J}; a)$  corresponding to Eq. (1) and the conditions (3) to be the  $i$ th value of  $s \in I \cap (a, +\infty)$  for which there exists a nontrivial solution of (1), (3). This is, to be precise, the  $i$ th right extremal point. Similarly one may define the  $i$ th (left) extremal point. In [3] Elias investigated the connection between the oscillation of (1) and the extremal points under the assumption  $(-1)^{n-k} p(x) < 0$ . (This is a necessary condition for existence of extremal points if  $p(x)$  is of one sign.) Two systems of boundary conditions of type (3) are especially important, namely focal type and conjugate type:

$$L_i y(a) = 0, \quad i = 0, 1, \dots, k-1 \quad \text{conjugate type} \quad (5)$$

$$L_j y(s) = 0, \quad j = 0, \dots, n-k-1$$

and

$$L_i y(a) = 0, \quad i = 0, 1, \dots, k-1 \quad \text{focal type} \quad (6)$$

$$L_j y(s) = 0, \quad j = k, \dots, n-k-1.$$

The first extremal point for (5) is called a  $(k, n-k)$  conjugate point and for (6) a  $(k, n-k)$  focal point. These boundary conditions will be denoted by  $(\mathcal{I}_c, \mathcal{J}_c)$ ,  $(\mathcal{I}_f, \mathcal{J}_f)$ , respectively. We say that Eq. (1) is  $(\mathcal{I}, \mathcal{J})$ -disconjugate on  $I$  in case the first extremal point  $\theta_1(\mathcal{I}, \mathcal{J}; a)$  does not exist in  $I \cap (a, +\infty)$  for any  $a \in I$ . We indicate this by writing  $\theta_1(\mathcal{I}, \mathcal{J}; a) = \infty$ .

In this paper we investigate the question: If Eq. (1) is  $(\mathcal{I}, \mathcal{J})$ -disconjugate then under what conditions will Eq. (2) be  $(\hat{\mathcal{I}}, \hat{\mathcal{J}})$ -disconjugate and how are  $n, v, (\mathcal{I}, \mathcal{J})$  and  $(\hat{\mathcal{I}}, \hat{\mathcal{J}})$  related? In such generality, the question is perhaps too difficult. In [7] Kim investigated comparison theorems for difocality types for pairs of equations ((1), (2)) and in [1] the authors established integral comparison theorems for general boundary conditions under the assumption  $n=v$  and  $\rho_i = r_i, 0 \leq i \leq n$ . Special cases of these results were also considered in [3, 4, 5, 8, 9, 10]. We would like to combine the techniques of [1, 7]. However, it is necessary to restrict the class of boundary conditions of type (3). We say that the boundary conditions  $(\mathcal{I}, \mathcal{J})$  (for (1)) are *admissible* in case for any integer  $l, 1 \leq l \leq n-1$ , at

least  $l$  terms of the sequence  $i_1, \dots, i_k, j_1, \dots, j_{n-k}$  are less than  $l$ . We denote by  $\mathcal{A}$  the class of all admissible boundary conditions. It has been shown (see [1] for further references) that  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$  if and only if for any  $a, s \in I, a < s$  there exists no nontrivial solution of  $L_n y = 0$  satisfying (3).

As in [1] we introduce the partial order  $<$  on the set  $\mathcal{A}$ . To do this, we define the relation  $\rightarrow$  on the class of all sets of indices  $\{l_1, l_2, \dots, l_q\}$ , where  $0 \leq l_1 < l_2 < \dots < l_q \leq n-1, 1 \leq q \leq n-1$ , as follows: If  $\mathcal{I}_1 = \{l_1, \dots, l_q\}, \mathcal{I}_2 = \{m_1, \dots, m_r\}$  then  $\mathcal{I}_1 \rightarrow \mathcal{I}_2$  means that the two index sets agree except for one index  $\hat{s}$  for which  $m_{\hat{s}} = l_{\hat{s}} + 1 < l_{\hat{s}+1}$  (where if  $\hat{s} = q$  we define  $l_{\hat{s}+1} = \infty$ ). The multi-valued map  $\sigma: \mathcal{A} \rightarrow 2^{\mathcal{A}}$  is defined by

$$\sigma(\mathcal{I}, \mathcal{J}) = \{(\hat{\mathcal{I}}, \hat{\mathcal{J}}) \in \mathcal{A} : \mathcal{I} \rightarrow \hat{\mathcal{I}} \text{ and } \mathcal{J} = \hat{\mathcal{J}} \text{ or } \mathcal{I} = \hat{\mathcal{I}} \text{ and } \mathcal{J} \rightarrow \hat{\mathcal{J}}\}.$$

If  $(\mathcal{I}, \mathcal{J}), (\hat{\mathcal{I}}, \hat{\mathcal{J}}) \in \mathcal{A}$  and either  $(\mathcal{I}, \mathcal{J}) \equiv (\hat{\mathcal{I}}, \hat{\mathcal{J}})$  or there exists an integer  $m \geq 1$  and a sequence  $\{(\mathcal{I}_r, \mathcal{J}_r)\}_{r=1}^m \subset \mathcal{A}$  with  $(\mathcal{I}_1, \mathcal{J}_1) = (\mathcal{I}, \mathcal{J}), (\mathcal{I}_m, \mathcal{J}_m) = (\hat{\mathcal{I}}, \hat{\mathcal{J}})$ , and  $(\mathcal{I}_r, \mathcal{J}_r) \in \sigma(\mathcal{I}_{r-1}, \mathcal{J}_{r-1}), r = 2, \dots, m$ , then we write  $(\mathcal{I}, \mathcal{J}) < (\hat{\mathcal{I}}, \hat{\mathcal{J}})$ . It is easy to check that  $<$  defines a partial order on  $\mathcal{A}$ .

In Section 2 we collect some additional preliminary results from [1, 7] which will be needed to establish the main results in Section 3.

## 2. PRELIMINARY RESULTS

We recall a number of results from [1, 7] which will be needed subsequently. Unless specifically mentioned otherwise, we shall always assume in this paper that  $(-1)^{n-k} p(x) < 0$  (for Eq. (1)) and  $(-1)^{v-l} q(x) < 0$  (for Eq. (2)). It follows from [1, Lemma 2.1] that if  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$  then  $(\mathcal{I}_c, \mathcal{J}_c) < (\mathcal{I}, \mathcal{J})$  and if  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$  with  $\mathcal{I} = \{0, 1, \dots, k-1\} (= \mathcal{I}_1)$ , then  $(\mathcal{I}, \mathcal{J}) < (\mathcal{I}_1, \mathcal{J}_1)$ . Moreover, from [1, Theorem 2.3], if  $(\mathcal{I}, \mathcal{J}), (\hat{\mathcal{I}}, \hat{\mathcal{J}}) \in \mathcal{A}$  with  $(\mathcal{I}, \mathcal{J}) < (\hat{\mathcal{I}}, \hat{\mathcal{J}})$  and if  $\theta_1(\mathcal{I}, \mathcal{J}; a)$  exists for Eq. (1), then  $\theta_1(\hat{\mathcal{I}}, \hat{\mathcal{J}}; a)$  exists and  $\theta_1(\hat{\mathcal{I}}, \hat{\mathcal{J}}; a) \leq \theta_1(\mathcal{I}, \mathcal{J}; a)$ . It follows therefore that the first extremal point  $\theta_1(\mathcal{I}, \mathcal{J}; a)$  is a non-increasing function with respect to the partial order on  $\mathcal{A}$ . The next two results apply to the case when  $v = n$  and  $\rho_i = r_i$  in Eqs. (1) and (2). We denote by  $\bar{\theta}_1(\mathcal{I}, \mathcal{J}; a)$  the first extremal point for Eq. (2).

**THEOREM 2.1** [1]. *Assume  $\theta_1(\mathcal{I}, \mathcal{J}; a) < \infty$  for all  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$  and suppose*

$$\int_z^\infty \frac{|p(t)|}{r_0(t)r_n(t)} dt \leq \int_x^\infty \frac{|q(t)|}{r_0(t)r_n(t)} dt. \tag{7}$$

*Then  $\bar{\theta}_1(\mathcal{I}, \mathcal{J}; a) < \infty$  for all  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$ .*

**THEOREM 2.2** [1]. Let  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$ ,  $\mathcal{I} = \{0, 1, \dots, k-1\}$ , and assume (2) is  $(\mathcal{I}, \mathcal{J})$  disconjugate on  $(a, \infty)$  and that (7) holds. Then (1) is  $(\mathcal{I}, \mathcal{J})$  disconjugate on  $(a, \infty)$ .

The proofs of Theorems 2.1 and 2.2 depend strongly on the fact (see [3]) that  $\theta_1(\mathcal{I}_c, \mathcal{J}_c; a) = +\infty \Rightarrow \theta_1(\mathcal{I}_f, \mathcal{J}_f; a) = +\infty$ . Before stating the final results of this section, we define the functions

$$\begin{aligned}\varphi(f_{i_0})(t) &= \frac{1}{f_{i_0}(t)}, \\ \varphi(f_{i_m}, \dots, f_{i_0})(t) &= \frac{1}{f_{i_m}(t)} \int_a^t \varphi(f_{i_{m-1}}, \dots, f_{i_0})(s) ds, \quad m \geq 1.\end{aligned}$$

**THEOREM 2.3** [7]. Assume Eq. (1) is  $(k, n-k)$  disfocal on  $(a, \infty)$  and assume  $n \geq m$ ,  $k > m$ . Then the  $m$ th order equation

$$L_m(r_n, \dots, r_{n-m})y + \frac{\varphi(r_0, \dots, r_k)}{\varphi(r_{n-m}, \dots, r_k)} py = 0 \quad (8)$$

is  $(k-n+m, n-k)$  disfocal on  $[a, \infty)$ .

**THEOREM 2.4** [7]. Assume  $n \geq m$  and let the functions  $\zeta_0, \dots, \zeta_{n-m-1}$  be positive and continuous on  $[a, \infty)$ . If the  $m$ th order equation

$$L_m(r_m, \dots, r_0)y + \frac{\varphi(\zeta_0, \dots, \zeta_{n-m-1}, r_0, \dots, r_{j-1})}{\varphi(r_0, \dots, r_{j-1})} py = 0 \quad (9)$$

is  $(j, m-j)$  disfocal on  $(a, \infty)$  then the  $n$ th order equation

$$L_n(r_m, \dots, r_0, \zeta_{n-m-1}, \dots, \zeta_0)y + py = 0 \quad (10)$$

is  $(n-m+j, m-j)$  disfocal on  $[a, \infty)$ .

**THEOREM 2.5** [7]. Assume  $n = v$ ,  $\rho_i \geq r_i$ ,  $i = 1, \dots, n-1$ , and

$$0 < \hat{q} \equiv \frac{(-1)^{n-k-1} q}{\rho_0 \rho_n} \leq \hat{p} \equiv \frac{(-1)^{n-k-1} p}{r_0 r_n} \quad (11)$$

and that Eq. (1) is  $(k, n-k)$  disfocal on  $(a, \infty)$ . Then Eq. (2) is also  $(k, n-k)$  disfocal on  $(a, \infty)$ .

3. GENERALIZED COMPARISON THEOREMS

Our main focus in this section is the extension of the previous results in which pointwise inequalities are replaced by integral inequalities and by considering more general types of boundary conditions than those of [7].

**THEOREM 3.1.** *Assume Eq. (1) is  $(\mathcal{J}_r, \mathcal{J}_t)$ -disconjugate on  $(a, \infty)$ , let  $n \geq m, k > n - m$ , and assume*

$$0 < \int_x^\infty \frac{|q(t)| dt}{r_{n-m}(t) r_n(t)} \leq \int_x^\infty \frac{\varphi(r_0, \dots, r_k)}{r_{n-m}(t) r_n(t) \varphi(r_{n-m}, \dots, r_k)} |p(t)| dt, \quad x \in (a, \infty). \quad (12)$$

Then

$$L_m(r_n, \dots, r_{n-m})y + qy = 0 \quad (13)$$

is  $(k - n + m, n - k)$  disfocal on  $(a, \infty)$ .

*Proof.* Since Eq. (1) is  $(\mathcal{J}_r, \mathcal{J}_t)$ -disconjugate on  $(a, \infty)$  (i.e., (1) is  $(k, n - k)$  disfocal on  $(a, \infty)$ ) it follows by Theorem 2.3 that

$$L_m(r_n, \dots, r_{n-m})y + \frac{\varphi(r_0, \dots, r_k)}{\varphi(r_{n-m}, \dots, r_k)} py = 0 \quad (14)$$

is  $(k - n + m, n - k)$ -disfocal on  $(a, \infty)$ . Therefore, by Theorem 2.2 it follows from (12) that Eq. (13) is also  $(k - n + m, n - k)$  disfocal on  $(a, \infty)$ . This completes the proof.

As an interesting special case, we have

**COROLLARY 3.2.** *Assume that*

$$y^{(n)} + py = 0 \quad (15)$$

is  $(k, n - k)$ -disfocal on  $(a, \infty)$ , let  $n \geq m, k > n - m$ , and assume

$$0 < \int_x^\infty |q(t)| dt \leq \int_x^\infty \frac{(k - n + m)!}{k!} t^{n-m} |p(t)| dt, \quad x \in (a, \infty). \quad (16a)$$

Then

$$y^{(m)} + qy = 0 \quad (16b)$$

is  $(k - n + m, n - k)$  disfocal on  $(a, \infty)$ .

*Proof.* One need only observe that if  $r_i = 1, i = 0, \dots, n$  then  $\varphi(r_0, \dots, r_k(t)/\varphi(r_{n-m}, \dots, r_k)(t) = (k - n + m)! t^{n-m}/k!$ . The result then follows directly from Theorem 3.1.

As a further extension of Theorem 3.1 we have the following

**THEOREM 3.3.** *Assume Eq. (1) is  $(\mathcal{I}, \mathcal{J})$  disconjugate on  $(a, \infty)$  where  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$  with  $\mathcal{I} = \mathcal{I}_f = \{0, 1, \dots, k - 1\}$ . Let  $n \geq m, k > n - m$  and assume that (12) holds on  $(a, \infty)$ . Then Eq. (13) is  $(\tilde{\mathcal{I}}, \mathcal{J})$ -disconjugate on  $(a, \infty)$  where  $\tilde{\mathcal{I}} = \{0, 1, \dots, k - n + m - 1\}$ .*

*Proof.* Since  $\theta_1(\mathcal{I}, \mathcal{J}; a) = +\infty$ , it follows from [1, Lemma 2.1] (and the remarks at the beginning of Section 2) that  $\theta_1(\mathcal{I}_f, \mathcal{J}_f; a) = +\infty$ . Hence, by Theorem 3.1 we have that Eq. (13) is  $(\tilde{\mathcal{I}}, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$ . Since  $(\tilde{\mathcal{I}}, \mathcal{J}) < (\tilde{\mathcal{I}}, \mathcal{J}_f)$ , it follows by [1, Theorem 2.3] that Eq. (13) is  $(\tilde{\mathcal{I}}, \mathcal{J})$ -disconjugate on  $(a, \infty)$ . This completes the proof.

In the next three results, we assume that  $n = v$ .

**THEOREM 3.4.** *Assume  $n = v, \rho_i(t) \geq r_i(t), i = 1, \dots, n - 1, \rho_0(t) \rho_n(t) \geq r_0(t) r_n(t), t \in (a, \infty)$  and assume further that Eq. (1) is  $(\mathcal{I}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$ . Then Eq. (2) is also  $(\mathcal{I}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$  provided*

$$\int_x^\infty \frac{|q(t)| dt}{\rho_0(t) \rho_n(t)} \leq \int_x^\infty \frac{|p(t)| dt}{\rho_0(t) \rho_n(t)}, \quad x \in (a, \infty). \tag{17}$$

*Proof.* Since (1) is  $(\mathcal{I}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$  it follows from Theorem 2.5 (with  $q = p$ ) that

$$L_n(\rho_n, \dots, \rho_0) y + p y = 0 \tag{18}$$

is also  $(\mathcal{I}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$ . Now from inequality (17) and Theorem 2.1 we have that Eq. (2) is  $(\mathcal{I}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$ . This completes the proof.

**COROLLARY 3.5.** *Assume all conditions of Theorem 3.4 except that Eq. (1) is assumed to be  $(\mathcal{I}, \mathcal{J})$  disconjugate on  $(a, \infty)$ , where  $\mathcal{I} = \mathcal{I}_f, (\mathcal{I}, \mathcal{J}) \in \mathcal{A}$ . Then Eq. (2) is also  $(\mathcal{I}_f, \mathcal{J})$  disconjugate on  $(a, \infty)$ .*

*Proof.* Since  $\theta_1(\mathcal{I}, \mathcal{J}; a) = +\infty$  and  $(\mathcal{I}_c, \mathcal{J}_c) < (\mathcal{I}, \mathcal{J})$  it follows from the remarks in Section 2 that  $\theta_1(\mathcal{I}_c, \mathcal{J}_c; a) = +\infty$ . Therefore,  $\theta_1(\mathcal{I}_f, \mathcal{J}_f; a) = +\infty$  from [3] and so by Theorem 3.4 it follows that  $\theta_1(\mathcal{I}_f, \mathcal{J}_f; a) = +\infty$  where  $\theta_1(\mathcal{I}, \mathcal{J}; a)$  denotes the first extremal point corresponding to Eq. (2). But then from  $(\mathcal{I}, \mathcal{J}) < (\mathcal{I}_f, \mathcal{J}_f)$ , we have  $\theta_1(\mathcal{I}, \mathcal{J}; a) = +\infty$ . That is, Eq. (2) is  $(\mathcal{I}_f, \mathcal{J})$  disconjugate on  $(a, \infty)$ .

**THEOREM 3.6.** Assume  $n = \nu$ ,  $\rho_i(t) \leq r_i(t)$ ,  $i = 1, \dots, n - 1$ , and  $\rho_0(t) \rho_n(t) \leq r_0(t) r_n(t)$ ,  $t \in (a, \infty)$ . Assume further that

$$\int_x^\infty \frac{|q(t)| dt}{r_0(t) r_n(t)} \geq \int_x^\infty \frac{|p(t)| dt}{r_0(t) r_n(t)}, \quad x \in (a, \infty) \tag{19}$$

and that  $\theta_1(\mathcal{I}, \mathcal{J}; a) < +\infty$  for all  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$ . Then  $\hat{\theta}_1(\mathcal{I}, \mathcal{J}; a) < +\infty$  for all  $(\mathcal{I}, \mathcal{J}) \in \mathcal{A}$ .

*Proof.* If there exists  $(\hat{\mathcal{I}}, \hat{\mathcal{J}}) \in \mathcal{A}$  with  $\hat{\theta}_1(\hat{\mathcal{I}}, \hat{\mathcal{J}}; a) = +\infty$ , then since  $(\mathcal{I}_c, \mathcal{I}_c) < (\hat{\mathcal{I}}, \hat{\mathcal{J}})$ , it follows that  $\hat{\theta}_1(\mathcal{I}_c, \mathcal{I}_c; a) = +\infty$  and hence  $\hat{\theta}_1(\mathcal{I}_f, \mathcal{I}_f; a) = +\infty$  (by [3]). But then by Theorem 3.4 we must have  $\theta_1(\mathcal{I}_f, \mathcal{I}_f; a) = +\infty$ , which is a contradiction.

In the next two results we compare Eqs. (1) and (2) with  $n$  and  $\nu$  not necessarily equal. For the set  $\mathcal{I} = \{i_1, \dots, i_q\}$  we will use the notation  $\|\mathcal{I}\| = q$  and similarly, if  $\mathcal{J} = \{j_1, \dots, j_s\}$ ,  $\|\mathcal{J}\| = s$ .

**THEOREM 3.7.** Assume that Eq. (1) is  $(\mathcal{I}_f, \mathcal{J})$  disconjugate on  $(a, \infty)$  with  $\|\mathcal{I}_f\| = k$ ,  $\|\mathcal{J}\| = n - k$ . Assume further that there exists an integer  $m$  satisfying  $n - k < m \leq \min\{n, \nu\}$  and such that

- (i)  $\rho_{m-i}(t) \geq r_{n-i}(t)$ ,  $i = 1, \dots, m - 1$
- (ii) 
$$\frac{\varphi(\rho_\nu, \rho_{\nu-1}, \dots, \rho_{m-n+k+1})}{\rho_m \rho_0 \varphi(\rho_m, \rho_{m-1}, \dots, \rho_{m-n+k+1})} \leq \frac{\varphi(r_0, \dots, r_k)}{r_n r_{n-m} \varphi(r_{n-m}, r_{n-m+1}, \dots, r_k)}$$
- (iii) 
$$\int_x^\infty \frac{|q(t)| dt}{\rho_\nu(t) \rho_0(t)} \leq \int_x^\infty \frac{|p(t)| dt}{\rho_\nu(t) \rho_0(t)}.$$

Then

$$L_\nu(\rho_\nu, \dots, \rho_0) y + (-1)^{m+\nu} qy = 0 \tag{20}$$

is  $(\hat{\mathcal{I}}_f, \hat{\mathcal{J}})$  disconjugate on  $(a, \infty)$  where

$$\|\hat{\mathcal{I}}_f\| = k - n + m \quad \text{and} \quad \|\hat{\mathcal{J}}\| = n - k + \nu - m.$$

*Proof.* Since Eq. (1) is  $(\mathcal{I}_f, \mathcal{J})$  disconjugate and  $(\mathcal{I}_f, \mathcal{J}) < (\hat{\mathcal{I}}_f, \hat{\mathcal{J}})$  it follows that  $\theta_1(\hat{\mathcal{I}}_f, \hat{\mathcal{J}}; a) = +\infty$ . Now by [7, Theorem 4a] conditions (i) and (ii) imply that

$$L_\nu(\rho_\nu, \dots, \rho_0) y + (-1)^{m+\nu} py = 0 \tag{21}$$

is  $(k - n + m, n - k + \nu - m)$ -difocal on  $(a, \infty)$ . Then by Theorem 3.4, we have because of condition (iii), that Eq. (20) is also  $(k - n + m, n - k + \nu - m)$  difocal on  $(a, \infty)$ . Therefore if  $\|\hat{\mathcal{I}}_f\| = k - n + m$ ,  $\|\hat{\mathcal{J}}\| =$

$n - k + v - m$ , then  $(\hat{\mathcal{J}}_f, \hat{\mathcal{J}}) < (\hat{\mathcal{J}}_f, \hat{\mathcal{J}}_f)$  so that Eq. (20) is also  $(\hat{\mathcal{J}}_f, \hat{\mathcal{J}})$  disconjugate on  $(a, \infty)$ . This completes the proof.

In a similar manner, by applying Theorems 2.4 and 3.4, one may obtain the following result. We omit the proof.

**THEOREM 3.8.** *Assume  $n \geq m$  and let the functions  $\zeta_0, \dots, \zeta_{n-m-1}$  be positive and continuous on  $[a, \infty)$ . Assume that*

$$L_m(r_m, \dots, r_0)y + \frac{\varphi(\zeta_0, \dots, \zeta_{n-m-1}, r_0, \dots, r_{j-1})}{\varphi(r_0, \dots, r_{j-1})}py = 0 \tag{22}$$

is  $(\mathcal{J}_f, \mathcal{J})$ -disconjugate with  $\|\mathcal{J}_f\| = j, \|\mathcal{J}\| = m - j$ . Assume further that

$$\int_x^\infty \frac{|q(t)| dt}{r_m(t)\zeta_0(t)} \leq \int_x^\infty \frac{|p(t)| dt}{r_m(t)\zeta_0(t)}, \quad x \in (a, \infty).$$

Then the  $n$ th order equation

$$L_n(r_m, \dots, r_0, \zeta_{n-m}, \dots, \zeta_0)y + qy = 0 \tag{23}$$

is  $(\hat{\mathcal{J}}_f, \hat{\mathcal{J}})$ -disconjugate on  $(a, \infty)$  where  $\|\hat{\mathcal{J}}_f\| = n - m + j, \|\hat{\mathcal{J}}\| = m - j$ .

In our final result we would like to relax somewhat the strict sign assumptions by applying results of [2].

**THEOREM 3.9.** *Assume that  $n = v$  and that Eq. (1) is  $(\mathcal{J}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$ . Assume also that  $(-1)^{n-k}q(x) < 0, x \in (a, \infty), \rho_i \geq r_i, i = 1, \dots, n - 1, \rho_0\rho_n \geq r_0r_n$ , and that*

$$0 < \int_x^\infty \frac{|q(t)| dt}{r_0(t)r_n(t)} \leq \int_x^\infty \frac{p(t) dt}{r_0(t)r_n(t)}. \tag{24}$$

Then Eq. (2) is  $(\mathcal{J}_f, \mathcal{J}_f)$  disconjugate on  $(a, \infty)$ .

*Proof.* From [2, Theorem 2.4], we conclude that

$$L_n(r_n, \dots, r_0)y + qy = 0 \tag{25}$$

is  $(\mathcal{J}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$  because of (24). Therefore from Theorem 2.5 (with  $p = q$  in (11)), it follows that Eq. (2) is  $(\mathcal{J}_f, \mathcal{J}_f)$ -disconjugate on  $(a, \infty)$ . This completes the proof.

*Remark.* Additional extensions of the results of [1, 2, 7] are also possible in much the same manner. In [6], various comparison results are also obtained by combining the integral comparison results of [1] with the  $n$ th order Euler equation.



## REFERENCES

1. G. J. BUTLER AND L. H. ERBE, Integral comparison theorems and extremal points for linear differential equations, *J. Differential Equations* **47** (1983), 214–226.
2. G. J. BUTLER AND L. H. ERBE, Nonlinear integral Riccati systems and comparison theorems for linear differential equations, *SIAM J. Math. Anal.* **14** (1983), 463–473.
3. U. ELIAS, Oscillatory solutions and extremal points for linear differential equations, *Arch. Rational Mech. Anal.* **71** (1979), 177–198.
4. U. ELIAS, Necessary conditions and sufficient conditions for disfocality and disconjugacy of a differential equation, *Pacific J. Math.* **81** (1979), 379–397.
5. G. D. JONES, An ordering of oscillation types for  $y^{(n)} + py = 0$ , *SIAM J. Math. Anal.* **12** (1981), 72–77.
6. W. J. KIM, Oscillation and nonoscillation criteria for  $n$ th order linear differential equations, *J. Differential Equations* **64** (1986), 317–335.
7. W. J. KIM, Generalized comparison theorems for disfocality types of the equation  $L_n y + py = 0$ , *J. Math. Anal. Appl.* **109** (1985), 182–193.
8. Z. NEHARI, Disconjugate linear differential operators, *Trans. Amer. Math. Soc.* **129** (1967), 500–516.
9. Z. NEHARI, Nonlinear techniques for linear oscillation problems, *Trans. Amer. Math. Soc.* **210** (1975), 387–406.
10. Z. NEHARI, Green's functions and disconjugacy, *Arch. Rational Mech. Anal.* **62** (1976), 53–76.
11. W. F. TRENCH, Canonical forms and principle systems for general disconjugate equations, *Trans. Amer. Math. Soc.* **189** (1974), 319–327.